GC.E. (Advanced Level) Examiration - April 2006
PHYSICS -1
Two hours

Imporiant: ¥ This question paper includes 59 questions in 7 pages.

% Answer 21l the questions.

#  Write your Index Number in the space provided in the answer sheel.

¥ Instructions are given on the back of the answer sheet. Follow them carefully.

# Ineach of the questions 110 68, pick one of the alternatives from (1), (2), (3), (4), (5) which is correct or most appropriate
and mark your response on the answer sheet with a cross (x) on the number of the correct oplion in accordance ~ith
instructions given on the back of the answer sheet.

Use of calculators is not aliowed.
. (g =10Nkg")
01. Which of the following is not an SI unit? 08. A circular coin of radius R and mass M is
(ke (2)m (3)s (A (5)k ~ placed so that it touches a step of height R
as shown in the figure. The minimum value
02. If (n - 1) number of main scale divisions of a certain measuring ﬂf.‘h'-" horizontal f‘:‘_"“ F required to pull the
instrument is divided into n vernier scale divisions, then the coin over the step 1s
least count of the instrument i main scale divisions is
M . M,
1 2).L 3) _n_ (4).n-1, (5_1 =L (ZJfE-
1 [}n {)n_l(] = ()n_] 5 2
03. The refractive indices of water and glass are .j. and% ) \ﬁ Mg (3)2Mg
respectively. )
The refractive index of water relative to glass is 09. —='. in the potentiometer circuit
shown when switch §
" J 2y A 3) 8 n 9 5) 2 is connected to A the halance
M 7 @z ©) 9 ) 8 ©) ' “ lengthis /. When Sis connected
. T . . E to B the balance length will be
04. For an object undergoing simple harmonic motion A '
(1) the magnitude of the acceleration is maximum when the 1L-"D_5_i Y m Loy L 3
displacement is maximum. B . 4 2 T
(2) the displacement is maximum when the speed is maximum. LIE"‘ @ _.y_ (s) 3L
(3} the magnitude of the ucceleration is maximum when the ' % B!

speed is maximum,

(4) the maximum potential energy is greater than the maximum
kinetic energy. '

(5) the acceleration is always constant.

10. An astronomica! telescope consists of two convex lenses ol
focal lengths 50 mm and 650mm. The moon subtends an angle
of ¢.5° on an unaided eye. If the telescope is used in normal
adjustment to view the moon. the angle subtended by the final
image of the moon on the aye'is

0s. / t K radiates energy at a rate of
A black body of temperature T K1 BY ()65 (255 (3)4.5° @35 ()25

10mW. At temperature 2T K it will radiate energy at a rate of

(1) 10mW (2) 20mW (3) 40mW . o - )
(4) 80mW (5) 160mW 1}. A ray of light incident on a glass prism is shown in the {igure
Consider the following statements.
06. Aradioactive nucleus #y, decaysteca nuclcus""\r in two (A) Irrespective of the value of angle A the
stages. The radiations €mitted in the two stagés'would most incident ray always emerges from the op
likely be ' posite face.
First stage Second stage (B) Fora centain value of the angle of incidence
the deviation of the emergent ray is
(1) u B minimum.
2 p Y (C) There is an angle of incidence for the ray
3) 1y u for which the angle of emergence is equal
{4) a ¥ to the angle of incidence.
5r - p 1 Of the ubove statements,
(1) only (B) is true.
07 Laght of wavelength S00A is incident on a sodium surface {2) only (A) and (B) are true
whose work function is 2 28¢V. The muimum‘kmcxc energy of {3) only (B) and (C) are true.
the emitted photoelectrons is the = 12.4 X N eVan (1) only (A) and (C) are true.
(1)0.03eV 12) .20V 10 00e¥ (5) all (A). (B) and (C) are true.
(4) 1.30eV (5) 2 D0V

‘Sadeeps Fublishers -1




12. A person A standing on a trolley moving with e constant specd
L on a straight horizonial track drops an object s shown in the
figure. £ is an observer standing on the ground. If the air resis
tance 1s negligible, the paths of the object as observed by A and
B are represented by i

(1) 2) (3) (4) (5)
RERERAYA
A |
_ - |

13. Refractive indices for red light and blue light in crown glass are
1.51 and 1.53 respectively. Consider the following statements.
(A) The speeds of red light and biue light in vacuum are the

same.
(B) The speed of red light is greater than that of blue light in
crown glass.

(C) Critical angle of red !ight is greater than that of blue light for
crown glass '

Of the above statements,

(1) only (A} is true.

(3) only (A) and (B) are true.

(5)all (A). (B) and (C) are true.

{2) only (B) is true.
(4) only (B) and (C) are true

¥

14.4 A stone is thrown at a certain angle with the

horizontal in the direction shown by the arrow.

If air resistance is ignored, which of the

fellowing velocity (v) - time (f) graphs best

e, Tepresent the variations of v, with ¢, and v, with 22
UI

4

{ r0| r

0 —y

! ’ ﬂic N~
() () | (i (v)
u, with ¢ v, with ¢
(1)1 i
(2) 1 I
“n v
151 11 I

15 Consider the following statements made regarding a transformer

(A} The core of a transformer is usuaily made of sof iron in
order to mamtain a betler Nux linkage

(i3 The wize diameter of the secondary coil of a step-down
reanslonmer 18 usuaily larger than that of the pPrimary coil

e, e e
e e e,

v Level) fl';h':‘f'?i_ca I

s

. A long insulated wire carrying a current 1 is bent 1o form g ‘.?:

- ding Wi Lo
(C) Wh(:.n wirding ra:srormcrs ires withoy il
coating must be used. Pl

i
Of the ebove statements, B
(1) only (A) is truc. %

(2) only (13} is truc.

(3) oniy {A) and (B) arc truc.
(4) only (A) and (C) ase true.
(5)all (A), (B) and (C) are true.

circular coil of N turns and radius . The two straighy ends ﬁﬁw
wire extend to a large distance as shown. The magnityge oot

magnetic flux density at the centre C of the coil is : .}
¢
C )| 33
1 d I G4
"""" Ned ol g N g
(1) 0 A JRA I L) R S F
N i " 2nr 2r r =

(4) —5‘;" + =52 (5) Npl  pl
2r 2r |
17. Asamechanical wave propagates in a medium, the energy ofthe.
wave dissipates gradually. This will gradually |
(1) decrease the speed of the wave
(2) decrease the amplitude of the wave £y

18.

e
o —— —

- The figure shows a cylindrica! satellite with

(3) decrease the frequency of the wave
(4) decrease the wavelength of the wave
(5) increase the wavelength of the wave

§is a Gaussian surface and q is a charge
inside it. Consider the following
statements made about the net electric
flux @ through the surface S.

(A) If the volume enclosed by the
surface Sincreases, than @ increases,
{B) Ifthe charge g is moved close to the
surface S, then @ increases. :

(C) Even if the shape of the surface S is changed. @ remﬂi“”“-l.g‘
same. :

Of the above statements.

() only (A) is true. (2) only (B)is true.
(3) only (C) is true. (4) only (A) and (B) are 1€ 2
(5) only (B) and (C) are true "-:'fr

radius R and length | and a wire PORS
wrapped around it in a rectangular shape. If
acurrent i is made to flow through PQRS at
an instant when the direction of the carth's |
magnetic field of flux density B is along

PO,

v
"
T
i
1
"
"
L]

(1) a net force of 2RiB and a torque of 2R1iB will ¢t Of K
satellite, o onl
(2) @ net force of 2iB and a torque of 2RiiB will act.
satellite. o ot il
(3) there will be no net force but a torque of RiiB Will €2
sateilite. ' '
(4) there will be no net force but a torque of 2R
the satellite, :
{3) ncither a net Torce nor a net torque will act

i will§

n e




20, The circuit corresponding to the logic expression F = A, |'3+_c is

A

C

A
FB F
C

21. in the circuit shown, charges of the capacitors 4 and B
respectively are

2V
—{- (1) 2uC, 2uC
' 1uF (2) 1uC, 2uC
]IF ” (3) IpC, 3pC
A B (4) 0, 2uC
' (5) 0,4uC
2V

22, Tow boys, 4 and B, standing on a
horizontal ice surface move apart by
pushing each other, The weight of A
is twice that of 5. By the time 4 has
moved 4 m the distance moved by Bis
(no {2)2m (3)4m
(4)8m (5 12m R

As shown in the figure, two satellites A
and B of masses m, and m, move
around a planct P in circular orbits with
speeds V, and ¥, respectively. The radii
of the nrbns are r and 2r respectively.
The ratm__va. is

3) /2 (*Uf' (5) 2

Suppose the times taken for a large airplane to accelerate
uniformly from 500kmhr to 505kmhr, a car from 50kmhr! to
55kmhr' and a bicycle from 5 kmhr' to 10kmhr are the same.
Consider the follwing statements.

(A) Ail have the same acceleration.
(B) All travel the same distance during the above time penud
{C) The accelerating force on each is the same.

Of the abve statements,
(1) only (A) is true.
(3) only (A) and (B) are true.

(5)all (A), (B) and (C) are true.
A liquid of volume expansivity

- ; e v forme a liquid thread of length

1, inside a luhc made of a matcnul of linear expansivity @ as
Sllown in the figure. if the temperature is incrcased by an amount
0. the length of the liquid thread will become

U]z._mi

(2) F“-
B

24,

(2) only (B)vis true.
(4) only (A) and (C)are true.

25.

B.,_ FA F
C oo—ol

26. A thin conducting ring of radius R
has a charge Q@ uniformly
distributed aver it. P is a point on .- +
ihe axis passing perpendicular to
the planc of the ring and through
its centre. The electric potential
at the point p is given by

Q Q QX
M 4me x 4m: (R*+ x)yr Ang (R? + x')
QX QR
(4) 41:&:“{R’+x‘)"[ ) e (RIX X0)

27. If two cylinders one containing argon gas and the other

containing neon gas are kept at the same temperature, then

(1) the pressures of the gases must be equal.

(2) the mean speeds of the gas atoms of the two gases musl be
equal

(3) the gas atoms of the two gases must have the same root
mean square speed.

(4) the masses of the gases must be equal.

(5) the gas atoms of the two gases must have the same mean

transtational kinetic energy.

28, +——0 ] me——s The circuit shown is placed in a uniform
L magnetic field that is acting into the page.
R L ] This magnetic field is decreasing in
b i :G‘)"- magnitude al a rate of 150Ts". The
i I reading of the ammeter is
R (1)0.15A (2)035A
maraapoet  (3)0.50A (4) 0.65 A
(5)0.80A
29. A laser beam of 1 mm diameter has to be converted into a beun
of 10mm diameter using two convex lenses as shown Wha is
the value of the focai length £ of the second lens and the distance
d at which it should be placed from the first lens?
f, d ]
(1) 4.5cm 6.0cm 1mm] N Ty
(2) 10.0cm 10.0cm l, !
(3) 10.0cm 1.5cm ST
(4) 15.0cm 15.0 cm d
(5) 15.0cm 16.5cm
30 The near point of a defective eye is 50cm  The lens that should
be worn to correct the near point to 25cm is
(1) aconverging lens of focal length S0cm.
(2) adiverging lens of focal length SUcm.
(3) aconverging lens of focal length 25cm.
(4) adiverging iens of focal length 25¢cm
(5} aconverging lens of focal length 75cm
31. An earthquake which oceurred al i certain location generates a

transverse wave (S - wave) and a longitudinal wave (FP-wave)
Both waves travel through the easth. and the I" - wave arrives 3
minutes before the S - wave o a certain point on the earth. The
average speeds of the 8 and 77 waves between the pont and the

(i, (2) ¢ {ll + y0 ) (3) 1,1 +v0) (1 +2a0) location of the earthquake arc Shms ' and ¥hms™ n.:»pi:s.lml} 7
(a+ How far away from the point did ihe carthyuake occur‘"
il + 11+ v0) (1) 40km (2) 540km -:nnm,m _
L= 211;[;} = :[1'{+ 3£}1 (4) 144Ckm (5) 2400km e
ubifshers Q-3 2008304 L_gltv‘litwﬁ
i 1,r._-__2-._ﬂ - \ 'Jri' 'i& iy oy
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35.

36.
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The dagram shows a balanced metre bridge. P indicates a pair of
Wentical resistive wires connected in paraflel. When one
resistive wire s removed, the new balance length is
approximately equal to

(1) 22 ¢m
(2} 43 em
{3)S5em
()67 cm
(392 ¢m

P'wo small piastic spheres, A and B of which A is hollow and B
15 s0lid. made of the same material and having Uhe same external
radii are released from rest from a tall building. Both spheres
reach their terminal velocities before hitting the ground. When
the spheres reach the ground

(1) the speed of A is greater than the speed of B,

(2) the viscous force on A is less than thaton B

(3) the viscous force on B is less than that on A

(4) A has taken a shorter time than B.

(5) both soheres gain the same speed.

>

Vigure | Figure I

T'he mement of inertia of a ring of mass M made of a uniform
thin wire about an axis through the point 4 (figure I)
perpenlicular to the plane of the ring is 2A/R®. When the ring
is bent 10 a S shape as shown in figure I, the moment of inertia
about the same axis is
(neoe

@3MRY (3) pp

(4) MR (5) 2MR?

A system of coplanar forces F, to F, drawn 1o scale act on a
point object O as shown. The resultant force will most
probably be a vector represented by F

k]

(1) 0K
(2) OB
(3) O
(4) OD
(53 OF

A wooden block of mass m js sliding down
an inclined plane at constant speed from
a height h above the ground as shown in
the figure. The total energy dissipated due
to friction by the time the block reaches
the bottom of the plane is

—

mgh
) <os
(4) myh

mgh_
(2) §in
{(5)0

(3) mgh tan0

Two identical conducting spheres A and /1 carry equal charges.
The spheres are separated by a distance which is much larger
than their diameters The electrostatic force acting between them
is F Now athird tdentical uncharged conducting sphere jg first

Q-4

8.

39,

40.

42

43

———— Yoitage of peak aniplitude 4v.

made to touch A and secondly B, and the

nre . J'
vaiuc of the force acting between 4 and p i mﬁ\cd.-% .1
(10 of OfF @ 8

7
‘The standard length of the filament of 3 60w, 20y | .",:' |
ins shortened duc to a certain defect. Whep this huI; ects, sz.
(A)it will glow brighter and consume mo igpp N
standard 60W bulb, ) - ﬂ.'il
the wavelength corresponding to the may; e
£ the light emitted lwil’ be lower than thy J:‘:Taln%‘
6C w bulb, ay
(C) surface temperature of the glass envelope ofy, ohond
at a higher temperature than that of 3 standary ﬁﬂwm
Of the above statements, %:
(1) only (A} is truc.
(3) only (B) and (C) are true.
(5) all (A), (B) and {C) are true.

re pﬂ'-'rtr

(2) only (A) ang (B ;
(4) enly (A) ang (B;}; ::&

A long uniform wire of resistance R is cut inyo n ““'I‘beg :
pieces of equal length. These pieces are bundieq lﬁgt;ha*
make a composite wire of length that is equal 1g the | :

piece. The resistance of the composite wire js “Ehefy
(HR (2)nR (3) n’R @R R

Resistance across XY of the nctwqu shown is
(1) 2R

3
@ 3r
(3) R
)

fey
)

- A point source of sound emits sound equally in all directions,

For such a situation the sound intensity at a point is invers¢lya
a ppint is inversely proportional to the square of its distaxt
from the source. If the intensity level at a distance of 5 m fun
the source is 70 dB then the intensity level at a distance of S
from the source is
(1) 30dB

(4) 60dB

(2) 40dB
(5) 80dB

(3)50dB

X Y

X i
In the circuit shown the cell E and the ‘[—kmj H
ammeier A have negligible internal W e
resistances. When a voltmeter having T
internal resistance 0f 20000 is connected L

across XY,
! dint
() the voltage across X¥ drops and the ammeter F24%
decreases, o drops
(2) voitage across PQ increases and the ammeter reading
(3) voltages across XY and PQ remain the same. + resdith
(4) both the voitage across PO and the ammete :
increase. A
h ammes
(3} voltage across PQ remains the same and the 8757
reading increases.

= L};g:

e

il
. « o« ightemisf¥
in the figure shown, A is a torch bulb, B and C are |:g:; dﬂ
diodes. If a strong bar magnet is moved upemtﬁ’f‘
continuously ata high rate through the coil and g™ Jig




T ;U"i
[L] C \/
/?
%“ f?

ﬂl] T n"o T
(1) only A will light up " ©
(2)only A and B will light up. |
(3) only g and C will light up 48. A heavy metal box is to be supported by n number ufunifm_'m
(4) only A and Cwill light up identical legs of the same material in such a way ?hat the enlla:c
(5)allA.B and C will light up. weight of the box is equally distributed among ail legs. In this

situation. the variation of the contraction Al of each leg with the

. . i is best
44. Thrce masses made of materials having densities p, p, and p, number of legs n, duc to the weight of the box, is bes

and of equal volumes are connected together with light strings. represented by
The system floats ina vessel containing two immiscibie liquids Al Al al
of densities p, and p, with strings taut as shown in the figure. e . S
Consider the following conclusions made about the system. . . '
(A:}p| < Py e, -u
(B) p| < pj o —— 0 . ﬂn "
(C) If the tensions of the strings are cqual, then p, = p,. o M - 0 @) 3)
Of the above conclusions = a
(1) only (A} is true. ' T — Al N
(2) only (C) is true. 5 fa.
(3) only (A) and (B) arc true. = ., .
(4) all (A), (B) and (C) are truc. L ',
(5) all (A), (B) and (C) are false. = e et )
- ol T _—
= ow Yo
45. The figure shows a cross section ol an integrated circuit
(1C) moynt?d on a Icir_cuil board. Th_c cu.re (C) of the 1C (Thl:: 19, Graph shows the variation of the
electronic circuit) dissipates 60 W of power as heat. The core s length (/) of the liquid columns of a
covered with a material of thermal conductivity 6Wm! K. The : certain mercury-in ~glass thermometer
direction of heat flow is shown by the arrows. The top surface P ) ar.-d an alghol-%n— fnce e
of the IC is cooled by forced convection. The top surface has an : i (IQ} with [cmpcratin: ©)
area of 10 cm? and the distance from the core to the top surface H Q :

A student draws the following
general conclusions solely based only
on the graph.

is I mm. At what temperaturc the top surface be kept in order to
maimtain the core at 90°C? (Assume that no heat flows through —0'C

the bottom surface and the sidces.)
(A) Mercury thermometers are more sensitive than alcohol

P T S W S -
I‘ N |,J::( thermometers.

lmmi B !

i 90°C | (B) Mercury thermometers are longer thar alcohol
[ XK X KA K K Ko X I XXX KK thermometers.
(1) 70°C (2) 80°C (3) 89.9°C (C) Volume expansivity of mercury is greater than of alcohol
(4)91°C (5) 100°C He can truly conclude
(!} only (C). (2) only (A)and (B)
46 Anideal pas o P , (3) only (A) and (C). (4) all (A). (B)and (C}
ideal gas undergoes the cyclic gp,, c (5) nore of (A), (B) and (C).

process ABCD in the PV diagram %0
shown. BC is an isothermal path.
The work done by the gas during

50. The following table indicates five different sets of resistance

one cycle is nearly equal to 200-p-ee 5t " values that can be allocated for R,. R, R, and R, of the bridge
(1) 600 kJ (2)300 kJ ! ! circuit shown, Which of the following sets produces the largest
(3)0 (4) -300 ki 5 e v(n’) deflection in the voltmeter (V)? :
(5)-600 k)
| Set |[RQ|RQ|RQIRQ
17. A soap bubble is formed gradually at one end of a glass tube {l)! 1 30 | 5 30 | s ﬁ.

from time 1 = 0 by slowly blowing air from the other end. The : 4
varialion of excess pressure (AF) inside the bubble with time (¢) 15 10 25 )
15 best represented by (3 3 25 ; 10 10 2 5_1 [;—T-T-

4

5

A M'? ‘.a.r-@ (4 " 10 LZ_‘, ” -

‘/ ’—_\ S R E

L] . 0 y 0 —_— o
N Cm :

(3)

—

_;_8__1.'5..:”1'5 Fﬁ%.'.‘::f-i!htrs Q-5 3006 M:Ev.ﬂ.eva[




51.

52,

53.

54,

55.
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~disc throughout an

The circuit shown consists of three fixed V
resistors and variable resisior which can
be varied from 0 to R. The maximum

}'o!lage that can be obtained across XY
is

ni i 2

(]SV @5V A2V
v 2 4

@ $v (94 v

A particle is moving in a circular orbit of radius 10m. At one
instant, the speed of the particle is 10ms” and is increasing at
arate of 10ms?, The angle between the velogity vector and the
resultant acceleration vector of the particle at that instant is

) 0% (2)30° (3)45°  (4)60°  (5)90°

Consider the following statements made regarding the

weightlessness experienced inside a satellitc orbiting around the
earth?

(A) Weightlessness is due to the negligibly small gravity at such
an altitude.

{B) Due to weightiessness, the momentum of a person moving
inside the satellite is zero.

(C) Due to weightlessness, natural thermal convection currents
cannot occur inside the satellite.

OFf the above statements.

(1) only (A) is truc.

(2) only (C) is true

{3) only (A) and (C) are true

(4) all (A), (B) and {C) are true.
(5) all (A), (B) and (C) are false.

An oscilloscope is connected to a microphone which receives
simultaneously a 50Hz signal and another signal of frequency

> 50Hz). The figure A shows the trace with the 50Hz signa! -

alone while the figure B shows the trace due to the combined
signal.

. S50Hz

(A)

i
.
"
.
O
v
¥
W
"

(B)

/

The value of fis
(1) 50H=
{4) 65Hz

(2) SSHz
(5) 70Hz

(3) 60Hz

A circular disc shaped pin wheel type
firework shown in the figure performsa
rotational motion about the Z-axis on a
horizontal smooth floor duc to a
constant reaction force gu.:ncra}cd by its
hurning. Assumc llmi'ltu: pin Iwhccl ;
retains the shape of a u_ml‘urm circular ,
d i1s moment off_____ TS0
1_mr? about the Z-axis, if m.r, @ and « are the
dius. angular velocity and angular acecleration
burning pin whecel ot a certain instant, then
(2) mr e s constant

intertia 1=
values of mass, ra
l'cspcﬂiu:l}‘ of the

(lymr is constant

(3)rwis constant

(5) mrter is constant
._-—--‘-

{4) mr tw is constant

56. The figure shows acircuit constructed using g
" silicon transistor. If the peak vaiue V, of the
input alternating voltage is 1 V, the output R
is best represented by
vulmgc V“I H D¢ P

| v
NN

IZV [ il I2V Y T ]2‘"’ s“_" ....,__.“‘:
! _
) (@), o
P2 7 - RV
0 :-' = 1 0L —— |
@ (5)

57. Atmospheric air at 30°C and v 7
having 80% reiative humidity is 0°C idﬂEC

made to flow slowly through 300 I L]

two large chambers, ¥ and Z, gy = g80%
maintained at 0 °C and at 40°C, -
as shown in figure. Densitics of

saturated water vapour in the atmosphere at 0 °C, 30°C ad
40°C are 4.8 x 107 kg m?, 30x10°kg m™ and 48x10°kg m’
respectively. Which of the following tables correctly represents
the relative humidities (RH), and the absolute humidities (AH)
of air in the atmosphere (X), and in the chambers Y and 7

| x| v | z x A
| % 0 | s RH 0 il I
Al([kgm™) [ 30x10° 4.a:|u"_|i{£: At (kg m??) [26x107 YTl C
|
(1 @
. | z
X ¥ z . ’ 00
Rif ) 0 a0 mo | ® |2 .
. L
Atilnm"] 24x107 [48x107 | 48x107 “‘q}"#] e I‘l
i ' '
3) 4
X ¥ z
RH %0 10 | 100 )
.\n[&;m"} 24x107 | 48x107 | 4.8x107
I '
(3)

58. Inthe circuit shown

in figure (a), the ’V

supply voitage (E)  _J u

Increases lincarly 7f B

with time (1) as | ivz

shown in figure (b). U W O¢
figure (a)

Attime = su e
» Supply voltage surpasses the brea
of the ?.cncrudiodc. d ¢ :

The variation of the voltage (V) across

—
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100€2 resistor, and the voltage (V) across the Zener diode wl;h o

time () is best represented in ?
v [ 1 N e Vo Vo iwﬂ-—f_
i | |
' *
) - . :
[f andv, N i
% =I. =t 05 .
v L\_u_/—\—/—r
0o t
e uD! )
(
 T— t
(5)

59. J

A star (S) rotates about its own axis as shown in the figure.
Which of the following graphs best represents the observed
distribution of intensity (/) as a function of wavelength (1) ofa
spectral line emitted by a certain gas in the star, when viewed -
from the earth (E)? The broken lines represent the expected
intensity distribution of the spectral line if the star does not
rotate about its axis.

! . It 1{
LA LA LA
() (2) 3)
1 I '
I A
(4) (5)

A uniform sheet of diclectric material is sent through two parallel
metal plaics as shown in figure at a constant velocity (v) to
check for manufacturing defects. Some of such defects are shown
in the figure. As the section 4B of the sheet passes through the
metal plates, variation of the capacitance {C) of the system with
time (1) is best represented by

C

ol “t ]

(1 ' (2)




